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 AHE-01  

BACHELOR’S DEGREE PROGRAMME/CES  

Term-End Examination 

June, 2022 

 

(APPLICATION ORIENTED COURSE) 

AHE-01 : HUMAN ENVIRONMENT 

Time : 3 hours Maximum Marks : 100 

Note :  Attempt six questions in all. Question no. 1 is 

compulsory. Attempt any five questions from 

questions no. 2 to 7.   

1. (a) Define the following terms : 51=5 

(i) Autotrophs  

(ii) Mutualism  

(iii) Incineration  

(iv) Bronchospasm  

(v) Endangered Species   

(b) Fill in the blanks :  51=5 

(i) Discharge of Methyl Isocyanide and 

________ gas were responsible for 

Bhopal Tragedy on December 2, 

1984.  

(ii) Dioxin is an example of ________.  
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(iii) Sulphur dioxide can react with 

water vapour in the atmosphere to 

form ________.  

(iv) ________ soils contain soluble 

sodium salts.  

(v) Larger swimming organisms in 

fresh-water ecosystem are called 

________.  

(c) Choose the correct alternatives from the 

two provided in the brackets :    51=5 

(i) (Organic/Inorganic) fertilizers in the 

form of biomass and waste products 

provide nutrients to soil and also 

enrich humus.  

(ii) (Ocean currents/Tides) in an ocean 

are caused by the pull of moon and 

sun.  

(iii) The population of (Great Indian 

Bustard/Pea-Fowl) in Thar desert is 

dwindling.  

(iv) Sulphur trioxide is an example of 

(Secondary/Primary) pollutants.  

(v) Worms that grow in the body are 

called (Parasites/Micro-organisms).  
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(d) State whether the following statements are 

True (T) or False (F) :   51=5 

(i) Culture would determine whether 

you have a caring attitude or  

self-centered attitude.  

(ii) BOD denotes the amount of O2 used 

for biochemical oxidation by  

micro-organisms in a unit volume of 

water sample at a given 

temperature and at a given time.  

(iii) Mohen-jo-daro and Harappa 

flourished between 4000 – 1500 

B.C.  

(iv) The UNO has recommended that 

member countries regard all places 

with over two lakh inhabitants 

living closely as urban.  

(v) Herbivores feed on carnivores.  

(e) Differentiate between any two pairs of the 

following :   22
2

1
=5 

(i) Organic farming and Mixed 

cropping  

(ii) Pelagic zone and Benthic zone  

(iii) Fuel wood and Fossil fuels  

2. List four physical regions of India and mention 

their characteristics of climate.  15 



AHE-01 4 

3. (a) Name and discuss any five major air 

pollutants.  10 

(b) Describe the effects of air pollutants on 

biological systems.  5 

4. List any three sources of waste generation and 

explain their effects on the environment. How do 

wastes affect the economy ?  3+6+6 

5. List and explain any three environmental 

legislations.  15 

6. (a) Discuss the psychological aspects of 

urbanization with respect to the following :  10 

(i) Stress due to over-interaction  

(ii) Stress due to changed environment 

(b) What is the effect of urbanization on  

wild-life ?  5 

7. Discuss the functional aspects of an ecosystem 

under the following heads :  35=15 

(a) Energy flow 

(b) Food chain  

(c) Pyramids 
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 E.EM.B©.-01  

ñZmVH$ Cnm{Y H$m`©H«$_/gr.B©.Eg. 

gÌm§V narjm 

OyZ,  2022 

(ì`dhma_ybH$ nmR²>`H«$_) 

E.EM.B©.-01 : _mZd n`m©daU 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : Hw$b N>… àíZm| Ho$ CÎma Xr{OE & àíZ g§»`m 1 A{Zdm`© h¡ & 
àíZ g§»`m 2 go 7 _| go {H$Ýht nm±M àíZm| Ho$ CÎma Xr{OE & 

1. (H$) {ZåZ{b{IV eãXm| H$mo n[a^m{fV H$s{OE : 51=5  

(i) ñdnmofr  

(ii) ghmonH$m[aVm  

(iii) XhZ 

(iv) ídgZr _amo‹S> `m AmHw§$MZ  

(v) g§H$Q>mnÞ Om{V`m±  

(I) [aº$ ñWmZm| H$s ny{V© H$s{OE :  51=5 

(i) _o{Wb AmBgmogmBZmBS> (MIC) Am¡a ________ 

J¡g Ho$ H$maU 2 {Xg§~a, 1984 H$mo ^monmb J¡g 

ÌmgXr hþB© & 

(ii) S>mBAm°pŠgZ ________ H$m CXmhaU h¡ & 
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(iii) gë\$a S>m°BAm°ŠgmBS> dm`w_ÊS>b _| Ob-dmîn 

Ho$ gmW A{^{H«$`m H$a ________ ~ZmVr h¡ & 

(iv) ________ _¥XmAm| _| KwbZerb gmo{S>`_ bdU 

hmoVo h¢ & 

(v) AbdUr` nm[aV§Ì _| V¡aZo dmbo ~‹S>o Ord 

________ H$hbmVo h¢ & 

(J) H$moîR>H$m| _| {XE JE Xmo _| go ghr {dH$ën H$mo  

Mw{ZE :  51=5 

(i) O¡d CËnmX H$s _mÌm Am¡a An{eï> CËnmXm| Ho$ 

ê$n _| (O¡d/AO¡d) Cd©aH$ _¥Xm H$mo nmofH$ 

nXmW© Am¡a CnOmD$ ImX-{_Å>r àXmZ H$aVo h¢ & 

(ii) _hmgmJa _| (_hmgmJar` YmamE±/Ádma-^mQ>m) 

MÝÐ_m Am¡a gy`© Ho$ H$f©U `m qIMmd go hmoVo  

h¢ & 

(iii) Wma _éñWb _| (~¥hV² ^maVr` gma§J/O§Jb 

_`ya) H$s g§»`m H$_ hmoVr Om ahr h¡ &  

(iv) gë\$a Q´>mBAm°ŠgmBS> ({ÛVr`H$/àmW{_H$) 

àXÿfH$m| H$m EH$ CXmhaU h¡ &  

(v) Omo H¥${_ eara _| d¥{Õ H$aVo h¢ CZH$mo 

(naOrdr/gyú_Ord) H$hVo h¢ &  
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(K) {b{IE {H$ {ZåZ{b{IV H$WZ gË` (T) h¢ AWdm 
AgË` (F) :  51=5 

(i) g§ñH¥${V go `h {ZYm©[aV hmoVm h¡ {H$ AmnH$m 
Ñ{ï>H$moU ñdmWu h¡ `m Xÿgao H$m Ü`mZ aIZo H$m  
h¡ &  

(ii) O¡.Am._m§. (~r.Amo.S>r.) {H$gr {XE JE Vmn 
Am¡a {XE JE g_` _| Ob Ho$ {H$gr Z_yZo Ho$ 
BH$mB© Am`VZ _| CnpñWV dmVmnojr Ordm| 
(gyú_Ordm|) Ûmam ~m`moamgm`{ZH$ CnM`Z _| 
à`wº$ Am°ŠgrOZ H$s _mÌm H$mo àX{e©V H$aVm  
h¡ &  

(iii) _mohZ-Omo-X‹S>mo Am¡a h‹S>ßnm 4000 – 1500 B©.ny. 
g_¥Õembr Wo &  

(iv) g§`wº$ amï>́ g§K Zo g§ñVw{V H$s h¡ {H$ gXñ` Xoe 
Eogo g^r ñWmZm| H$mo Ohm± Xmo bmI go A{YH$ H$s 
Am~mXr hmo Am¡a Ohm± na bmoJ EH$-Xÿgao Ho$ 
g_rn ahVo h¢, CgH$mo ehar joÌ _mZm OmE & 

(v) emH$mhmar Ord _m§gmhmar Ordm| H$mo ImVo h¢ &  

(L>) {ZåZ{b{IV _| go {H$Ýht Xmo `w½_m| Ho$ ~rM ^oX  

H$s{OE :  22
2

1
=5 

(i) O¡d H¥${f Am¡a {_{lV \$gb|  

(ii) dobmndVu àXoe Am¡a {ZVbñW àXoe  

(iii) BªYZ H$s bH$‹S>r Am¡a Ordmí_ BªYZ  

2. ^maV Ho$ Mma ^m¡{VH$ àXoem| H$mo gyMr~Õ H$s{OE Am¡a CZH$s 

Obdm`w Ho$ bjUm| H$m CëboI H$s{OE &  15 
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3. (H$) {H$Ýht nm±M _w»` dm ẁ àXÿfH$m| Ho$ Zm_ ~VmBE Am¡a 
CZH$s {ddoMZm H$s{OE & 10 

(I) O¡d àUmbr na dm`w àXÿfH$m| Ho$ à^mdm| H$m dU©Z 
H$s{OE & 5 

4. An{eï> CËn{Îm Ho$ {H$Ýht VrZ òmoVm| H$mo gyMr~Õ H$s{OE 
Am¡a CZHo$ n`m©daU na n‹S>Zo dmbo à^mdm| H$s ì`m»`m 
H$s{OE & An{eï> {H$g àH$ma AW©ì`dñWm H$mo à^m{dV 
H$aVo h¢ ?  3+6+6 

5. {H$Ýht VrZ n`m©daUr` A{Y{Z`_m| H$mo gyMr~Õ H$s{OE Am¡a 
CZH$s ì`m»`m H$s{OE & 15 

6. (H$) eharH$aU Ho$ _Zmod¡km{ZH$ nhbwAm| H$s {ZåZ{b{IV 
Ho$ g§X ©̂ _| {ddoMZm H$s{OE : 10 

(i) A{V-A§V…{H«$`m Ho$ H$maU hmoZo dmbo X~md 
(VZmd)  

(ii) n[ad{V©V n`m©daU Ho$ H$maU hmoZo dmbo X~md 
(VZmd)  

(I) dÝ` àm{U`m| na eharH$aU H$m Š`m à^md n‹S>m h¡ ?  5 

7. {ZåZ{b{IV erf©H$m| Ho$ A§VJ©V nm[aV§Ì Ho$ àH$m`m©Ë_H$ 
nhbwAm| H$s {ddoMZm H$s{OE :  35=15 

(H$) D$Om© àdmh  

(I) ImÚ ûm§¥Ibm 

(J) {na¡{_S>  


